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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
8[9/54 5747 8[3/6/6 -
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6.
2 5) 6) "
5|645 8|696 5|232 8.
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7) 8) 9
6|24O 3|172 4|596
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D 1192 2 149r2 3) 4/5r6 . 11912
8|9 54 517 47 81366
8 2 312 2 14912
15 2.4 46
_8 ﬁ ﬂ 3. 45r6
7.4 4|7 6
7.2 45 4 129
2 2
5, 87
6. 4612
7 40
9 1129 5) 8|7 6) 4612
5|16 45 81696 51232 8. 57r1
5 64 20
1|4 56 32 9. 149
10 56 30
45 0 2
45
0
7) 40 8) 57rl 9 149
6|2 4/0 3|17 2 41596
24 15 4
0 212 19
21 e
1 36
36
0
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